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Page 17 –
Remove – “ARP and RARP” bullets:

Make a new section just before “TCP/IP Transport Layer” heading, with heading “Layer 2 
protocols related to TCP/IP”


Add sentence and move the “ARP and RARP” bullets after sentence:

“The following protocols related to TCP/IP are at the data link layer (Layer 2):” 

Page 23 – States the EIGRP stands for ‘Enhanced Internet Gateway Routing Protocol’ when in fact it 

stands for ‘Enhanced Interior Gateway Routing Protocol’.

Page 63 – The bold heading at the bottom of the page should read, ‘Cisco Network Investment Calculator 

                 for IP Telephony’

                 The first sentence of the first paragraph under the heading should read, “If the customer is 

                 considering IP telephony (which we discuss in detail in Chapter 8, “Designing Networks for 

                 Voice Transport”) in its network, the Cisco Network Investment Calculator (CNIC) can be 

                 useful for analyzing requirements.”

Page 120 – The first sentence of the second bulleted paragraph should read, “The access layer tends to 

                   focus on the protocols of the OSI reference model’s application, presentation, session, and 

                   transport layers.”

Page 152 – The second sentence of the second bulleted paragraph should read, “Trojan horse programs are 

                   another method that can be used to determine this information.”

Page 202 – Regarding the ‘NOTE’ paragraph, it should read, “Some security issues are also associated with 

                   electromagnetic emissions – it is easy to eavesdrop on the traffic carried across UTP because 

                   these cables emit electromagnetic signals that can easily be detected.”

Page 221 – The second bulleted paragraph should read, “The number of high-capacity ports for distribution 

                   layer aggregation and connection to other campus modules, such as the Server Farm or Edge 

                   Distribution.”

Page 224 – The second sentence of the first bulleted paragraph should read, “Each Layer 3 distribution 

                   switch (router) connects to only one Layer 3 campus backbone switch (router).”

Page 264 – Second sentence of last paragraph has "s" missing from requires. Sentence should be: "For 

example, it requires more bandwidth to download a photograph in 1 second than it takes to download a page of text in 1 second."

Page 341 – The sentence of the third bulleted item should read, “When a routing update is received and the 

                   routing information is about:”

Page 353 – The third bulleted  paragraph should read, “Hop Limit – This 8-bit field specifies the maximum 

                   number of hops the IPv6 packet can traverse and is similar to the IPv4 packet header’s Time to 

                  Live (TTL) field.”

Page 379 – The third bulleted sentence should read, “By default, routing updates are sent every 30 seconds 

                   (RIPv2 uses multicast, not broadcast).”

Page 487 – The third sentence of the first paragraph should read, “For example, when a G.729 voice signal 

                   is tandem-encoded three times, the MOS score drops from 3.92 (very good) to 2.68 

                   (unacceptable).”

Page 499 – First sentence after the key point there is a word missing: VoFR. The sentence should 

    be: "Frame Relay is not a LAN solution and therefore VoFR cannot be used from end 

    to end, like Voice over IP."

Page  653 – The last sentence on the page should read, “Cisco’s service assurance agents (SAAs), 

                    embedded in Cisco routers or Catalyst Layer 3 switches, along with the Internetwork 

                    Performance Monitor (IPM) application, can accomplish these objectives.”

Page 678 – Question #14 should read, “What Syslog severity level does the first message show in Example 

                   10-27?”

Page 886 –  Regarding #14, the question should read, “What Syslog severity level does the first message  

                    show in Example 10-27?”

Page 908 – The definition for ‘availability’ should state, ‘The amount of time during which the network is 

                   operational; expressed as: (Mean Time Between Failures [MTBF]) / (MTBF + Mean Time to 

                   Repair [MTTR]).’

